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ENGLISH 

 

PASSAGE I 

An ordinary evening in Bhubaneswar turns terrifying for Priya Mishra, a 
young teacher returning home from work. While passing through a 
crowded marketplace, her gold chain, a family heirloom, is suddenly 
snatched by a masked thief on a bike. The chaos leaves her shaken as 
the thief disappears before anyone can react. This incident sets off a 
series of chain-snatching crimes across the city, leading to panic among 
citizens. 

The police are flooded with complaints of similar looting cases. Inspector 
Chinmay kumar, known for his sharp instincts, is assigned to the case. 
With a rising crime pattern, pressure mounts on the police force to catch 
the culprit. Priya's case is identified as the key to uncovering the gang's 
operations. Arjun interviews Priya, gathering crucial details about the 
thief's bike and escape route. 

Arjun and his team analyze CCTV footage from nearby areas but find 
the thief had strategically avoided cameras. A breakthrough comes 
when Constable Kiran discovers a small clue—a bike with a partially 
broken tail light captured in a different part of the city. Arjun deduces the 
thief may be part of a local crime syndicate specializing in quick, high-
risk thefts. 

The police stake out locations where previous crimes occurred. Using 
decoy tactics, they simulate a scene with a policewoman posing as a 
vulnerable target. The strategy pays off when a thief on a similar bike 
attempts another snatch. A chase ensues, leading to the arrest of a man 
named Raju. However, Raju refuses to cooperate and denies being part 
of any gang. 

Raju’s phone reveals suspicious calls with a handler known as Manav, 
the mastermind behind the thefts. Arjun’s team intensifies their search, 
uncovering a pawnshop where stolen gold is discreetly exchanged. 
Posing as buyers, officers visit the shop and trace transactions to 
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Manav. They learn he runs a network of young thieves, targeting 
crowded urban areas to quickly loot and disappear. 

The police launch a city-wide operation. With Priya's help, they track 
down the pawnshop owner who sold her stolen chain. Arjun and his 
team locate Manav's hideout in an abandoned warehouse near Cuttack. 
A dramatic confrontation follows, with Arjun and Manav locked in a tense 
standoff. After a brief struggle, Manav is arrested and the stolen 
ornaments—including Priya’s chain—are recovered. 

The chain-snatching gang is dismantled, bringing relief to the city. Priya 
is reunited with her chain, and the police are commended for their swift 
action. Inspector Arjun reflects on the case, knowing that vigilance and 
teamwork saved countless others from falling victim to crime. 

 

1: Who was the victim of the chain-snatching incident in the story? 

(A)  Kiran 
(B) Priya Mishra 
(C) Inspector Chinmay kumar 
(D) Manav 

ANS: (B) 

Explanation: 
➔ The chain-snatching victim in the story was Priya Mishra, a young 
teacher returning home from work. She played a key role in helping the 
police investigation. 

Other Options: 
➔ Constable Kiran: A police officer who discovered the clue about the 
bike. 
➔ Inspector Chinmay kumar: The lead investigator of the case. 
➔ Manav: The mastermind behind the chain-snatching gang. 

 

2: What was the crucial clue that helped the police in tracking the 
thief? 
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(A) The thief’s phone 
(B) Priya’s description of the thief 
(C) CCTV footage showing a bike with a broken tail light 
(D) Witnesses from the marketplace 

ANS: (C) 

Explanation: 
➔ The critical clue was CCTV footage that captured an image of a bike 
with a broken tail light, which led the police closer to the gang involved 
in the crimes. 

Other Options: 
➔ The thief’s phone: Helped later when Raju was caught but was not 
the initial clue. 
➔ Priya’s description: Provided important but incomplete information. 
➔ Witnesses: They did not provide any significant leads in the 
investigation. 

 

3: What strategy did the police use to capture one of the chain-
snatchers? 

(A) Conducted raids on gold pawnshops 
(B) Used a decoy to simulate a chain-snatching incident 
(C) Increased police patrols 
(D) Announced a city-wide alert 

ANS: (B) 

Explanation: 
➔ The police used a decoy operation, where a female officer posed as 
a vulnerable target to lure the thieves. This tactic led to the capture of a 
gang member named Raju. 

Other Options: 
➔ Raids on pawnshops: This was part of the later investigation. 
➔ Increased patrols: Helped prevent future crimes but did not lead to 
the immediate arrest. 
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➔ City-wide alert: Implemented later in the operation but not the key 
strategy for the arrest. 

 

4: Who was identified as the mastermind behind the chain-
snatching gang? 

(A) Raju 
(B) Manav 
(C) Inspector Chinmay kumar 
(D) Kiran 

ANS: (B) 

Explanation: 
➔ Manav was the mastermind who organized and managed the 
network of chain-snatching thieves. He was eventually tracked down and 
arrested by the police. 

Other Options: 
➔ Raju: One of the gang members arrested during the operation. 
➔ Inspector Chinmay kumar: He led the investigation. 
➔ Kiran: A constable who found crucial evidence in the case. 

 

5: Where was the final confrontation between the police and the 
gang leader, Manav, located? 

(A) Priya's home 
(B) An abandoned warehouse near Cuttack 
(C) The police headquarters 
(D) The marketplace 

ANS: (B) 

Explanation: 
➔ The final confrontation took place in an abandoned warehouse near 
Cuttack, where the police confronted and arrested Manav, recovering 
the stolen ornaments. 
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Other Options: 
➔ Priya's home: Priya was only a victim and provided information, but 
there was no confrontation at her residence. 
➔ Police headquarters: Served as the investigation center but not the 
scene of the confrontation. 
➔ The marketplace: The initial crime scene but not where the gang 
leader was caught. 

 

PASSAGE II 

In the quiet town of Rishikesh, a young woman named Ananya Sharma 
vanishes without a trace while returning from work. Her parents report 
her missing, but with no evidence of foul play, the police initially dismiss 
it as a runaway case. However, Inspector Aarav Mehta, known for his 
work on missing person cases, takes an interest when he learns that 
three other women have disappeared under similar circumstances. 

A witness claims to have seen Ananya being forced into a black SUV 
near the town’s outskirts, raising fears of human trafficking. 

Aarav begins an investigation and uncovers a human trafficking ring 
operating across northern India. The gang lures victims with fake job 
offers and promises of opportunities abroad. He reaches out to social 
worker Maya Roy, who has been helping survivors of trafficking. 

Maya introduces Aarav to a former victim, Rita, who escaped from the 
ring. Rita provides crucial details about the traffickers' methods and 
hidden operations. Aarav realizes that time is running out as the 
traffickers plan to move their victims across the border into Nepal. 

The investigation reveals that the trafficking syndicate is led by Vikram 
Singh, a wealthy businessman who uses his legitimate enterprises to 
cover illegal activities. Aarav and his team face challenges as Vikram's 
influence reaches deep into law enforcement and politics. Several 
officers warn Aarav to back off, but he refuses. 

Using surveillance and informants, Aarav locates a warehouse outside 
the city where victims are being held temporarily. However, a raid on the 
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warehouse leads to only a partial success—some victims are rescued, 
but Ananya is still missing, and several traffickers escape. 

Aarav receives intel that the traffickers are using truck convoys to 
transport victims across state borders. He launches a coordinated 
operation with police teams in Uttarakhand and Uttar Pradesh to 
intercept the convoy. During a high-speed chase on the highway, Aarav 
captures one of Vikram’s lieutenants, who reveals that Ananya is being 
held at a hidden farmhouse near the border. 

Meanwhile, Maya works with the rescued victims, providing 
psychological support and gathering more information about the 
trafficking network. 

In a tense climax, Aarav and his team storm the hidden farmhouse, 
engaging in a deadly shootout with armed guards. Vikram attempts to 
flee but is cornered by Aarav in a standoff. Aarav convinces Vikram’s 
second-in-command to surrender, preventing further bloodshed. The 
remaining victims, including Ananya, are rescued. 

Vikram is arrested, and evidence of his trafficking operations is exposed 
to the media, leading to a national scandal. 

With the trafficking ring dismantled, survivors begin their journey of 
recovery. Ananya reunites with her family, while Aarav and Maya reflect 
on the challenges of combating such a deeply entrenched criminal 
enterprise. Aarav vows to continue his fight against human trafficking, 
knowing that many more victims still need saving. 

 

6: Who was the leader of the human trafficking ring in the story? 

(A) Aarav Mehta 
(B) Vikram Singh 
(C) Maya Roy 
(D) Rita 

ANS: (B) 
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Explanation: 
➔ Vikram Singh, a wealthy businessman, was the leader of the 
trafficking ring, using his enterprises to hide illegal operations. 

Other Options: 
➔ Aarav Mehta: He was the police inspector investigating the case. 
➔ Maya Roy: She was a social worker helping victims. 
➔ Rita: She was a former victim who provided crucial information. 

 

7: How did Aarav first become involved in the case? 

(A) He was assigned by his superior 
(B) He was contacted by Ananya's family 
(C) He noticed a pattern of multiple women disappearing 
(D) He witnessed the kidnapping himself 

ANS: (C) 

Explanation: 
➔ Aarav became involved after noticing a pattern of multiple women 
disappearing under similar circumstances. 

Other Options: 
➔ Assigned by his superior: He took interest in the case voluntarily. 
➔ Contacted by Ananya's family: The family reported her missing but 
did not directly involve Aarav initially. 
➔ Witnessed the kidnapping: Aarav did not witness the kidnapping. 

 

8: Where were the victims being temporarily held by the traffickers? 

(A) An abandoned school 
(B) A warehouse outside the city 
(C) A hidden bunker 
(D) A hotel in Rishikesh 

ANS: (B) 
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Explanation: 
➔ The victims were being temporarily held at a warehouse outside the 
city before being transported across state borders. 

Other Options: 
➔ Abandoned school: This location was not mentioned. 
➔ Hidden bunker: No bunker was found. 
➔ Hotel: The traffickers did not use a hotel. 

 

9: What role did Maya Roy play in the investigation? 

(A) She provided financial support to the victims 
(B) She coordinated the police raids 
(C) She helped Aarav by working with survivors and gathering 
information 
(D) She went undercover as a victim 

ANS: (C) 

Explanation: 
➔ Maya Roy helped by providing psychological support to survivors 
and gathering important details about the traffickers' operations. 

Other Options: 
➔ Financial support: This was not her role. 
➔ Coordinated raids: Aarav led the police operations. 
➔ Undercover: Maya did not go undercover. 

 

10: How did Aarav capture Vikram Singh? 

(A) He set a trap at the airport 
(B) He arrested him at a business meeting 
(C) He cornered him during a raid on a hidden farmhouse 
(D) He tracked him through his phone 

ANS: (C) 
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Explanation: 
➔ Aarav captured Vikram Singh by cornering him during a raid on a 
hidden farmhouse near the border. 

Other Options: 
➔ Trap at the airport: No trap was set at the airport. 
➔ Business meeting: Vikram was not arrested at a meeting. 
➔ Phone tracking: Phone tracking was not used. 

 

11- In the following question, one part of the sentence may have an 
error. Find out which part of the sentence has an error and select 
the option corresponding to it. (Avoid punctuation errors) 

(A) Bijesh wastes not / (B) only money / (C) and also his life / (D) NO 
ERROR 

 

(A) D 

(B) C  

(C) B 

(D) A 

 

Ans- B 

 

Error Part- (C) "and also his life" 

Reason- The correct conjunction is "not only... but also". The phrase 
should be "not only money but also his life." 

Correct Sentence- Bijesh wastes not only money but also his life. 
 

12- Which of the segment(s) has/have errors:  
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[a] Nerves a side, [b] most jobseekers who have[c] botched several 
interview [d] can perform decent in next job interview. 

 

A) c & d 

B) a, c & d 

C) a & c 

D) a, b & c 

 

Ans- B 

 

Error Part- (a) "Nerves a side", (c) "several interview", (d) "perform 
decent" 

Reason- The correct phrase is "Nerves aside." "Interview" should be 
plural, and "perform decently" should use an adverb. 

Correct Sentence- Nerves aside, most jobseekers who have botched 
several interviews can perform decently in the next job interview. 

 

13- In the following question, one part of the sentence may have an 
error. Find out which part of the sentence has an error and select 
the option corresponding to it. (Avoid punctuation errors) 

(A) The festival are celebrated / (B) with great enthusiasm and 
observation / (C) of full fledged  ritual. / (D) No Error 

 

(A) B 

(B) C 

(C) A  

(D) D 
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Ans- C 

 

Error Part- (C) "of full fledged ritual" 

Reason- The article "a" is missing before "full-fledged ritual" and 
"ritual" should be plural to match the context. 

Correct Sentence- The festival is celebrated with great enthusiasm 
and observation of full-fledged rituals. 

 

14- Choose the correct Preposition:  

The children skated _________ the hill. 

 

A) with  

B) in 

C) down 

D) above 

 

ANS- C 

 

Explanation: The correct preposition 'down' is used to describe the 
direction of motion from a higher place to a lower one, such as skating 
down a hill. 

Example: 
➤ The cyclist raced down the mountain at high speed. 
➤ The water flowed down the slope into the valley. 
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15- Fill in the blanks with suitable Preposition from the given 
alternatives. 

We need to walk ____________ this forest. 

 

(A) on 

(B) to 

(C) since 

(D) through  

 

Ans- D 

 

Explanation: 'Through' is the correct preposition to indicate movement 
across or within a space, like walking through a forest. 

Example: 
➤ We drove through the tunnel. 
➤ She walked through the crowded market. 

 

16- Fill in the blanks with suitable Preposition from the given 
alternatives. 

India won’t back down _________ its plan for mandatory data 
localisation. 

 

(A) under 

(B) near 

(C) on  

(D) since 
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ANS- C 

 

Explanation: 'On' is used to describe maintaining a position or stance, 
such as sticking to a plan or decision. 

Example: 
➤ They will not back down on their promise. 
➤ The company refused to compromise on its policies. 

 

17- Select the correct option.  

His father is __________ experienced Math teacher. 

 

A) a 

B) the 

C) an 

D) no article 

 

Ans- C 

 

Explanation: The correct article in this sentence is "an." When a 
word begins with a vowel sound, we use the indefinite article "an." In 
this case, "experienced" starts with a vowel sound ("ek-spi-ri-uhnst"), 
so "an" is used. 

Examples: 

1. She is an accomplished musician. 

2. He is an honourable man. 
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3. They hired an excellent chef for the restaurant. 

 

18- Choose the correct article to complete the following sentence. 

Russian policies are thought by many to be among _________ best 
in the world. 

 

(A) the  

(B) No article 

(C) a 

(D) an 

 

Ans- A 

 

Explanation: The correct option is A) the. The sentence is referring to 
a specific group of policies known as "best in the world." When we talk 
about a specific group of things, we use the definite article "the" 
before it. 

Examples: 

1. The Eiffel Tower is one of the most famous landmarks in the world. 

2. He is known for his skills as the best chef in the city. 

3. They won the award for the best performance of the year. 

 

19- Fill in the blanks with suitable Article from the given 
alternatives. 

Our college has set up ____________ counseling centre and a 
student welfare group that helps students to cope up with the 
stress. 
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(A) a   

(B) an 

(C) the 

(D) No article 

 

Ans- A 

 

   Explanation: The indefinite article "a" is used here because it refers 
to a singular noun, "counseling center," which is not a specific or 
particular center. "A" is used when we mention a non-specific 
countable noun for the first time. 

   Examples: 

   - We need to establish a better healthcare system. 

   - They opened a new branch of the library. 

   - She joined a local sports club. 

 

20. The government intend to bring in a new ________ regarding 
the sale of alcohol. 

 

A. legislate 

B. legislative 

C. legislature 

D. legislation 

 

Ans- D 
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Full Explanation: The government intends to bring in a 
new legislation regarding the sale of alcohol. "Legislation" refers to 
laws that are proposed or enacted. 

Other Options: 
➤ A) legislate is a verb and does not fit the noun requirement. 
➤ B) legislative is an adjective and cannot stand alone in this context. 
➤ C) legislature refers to a governing body, not the laws themselves. 

 

21. Mahabaleshwar is. cooler than Mysore. (Select its appropriate 
positive degree keeping the meaning unchanged) 

A) Mysore is as cool as Mahabaleswar. 

B) Mysore is not so cool as Mahabaleswar. 

C) Mahabaleswar is more cool than Mysore. 

D) Mahabaleswar is more cooler than Mysore. 

 

Ans- B 

 

Full Explanation: Mysore is not so cool as Mahabaleshwar. This 
rephrasing maintains the comparative meaning. 

Other Options: 
➤ A) Mysore is as cool as Mahabaleswar contradicts the original 
statement. 
➤ C) Mahabaleshwar is more cool than Mysore is grammatically 
incorrect. 
➤ D) Mahabaleshwar is more cooler than Mysore is also incorrect 
due to redundancy. 
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22. Since I had __________ things to buy I had withdrawn 
___________ money from the ATM. 

(Fill in blanks with right words) 

(A) a few, a little 

(B) a few, some 

(C) some, a few 

(D) few, some 

 

Ans- B 

 

Full Explanation: Since I had a few things to buy I had 
withdrawn some money from the ATM. 

Other Options: 
➤ A) a few, a little — Inappropriate because "a little" is for 
uncountable nouns. 
➤ C) some, a few — Inappropriate order; does not fit the context. 
➤ D) few, some — Incorrect use of "few" implies not enough. 

 

23. ___ I am dead, my dearest, sing no sad songs for me. (Select 
the appropriate connector fill the blank) 

A) As soon as 

B) Where 

C) If 

D) When 

 

Ans- D 
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Full Explanation: ___ I am dead, my dearest, sing no sad songs for 
me. 
Reason: "When" fits best to indicate a condition related to the 
speaker's death. 

Other Options: 
➤ A) As soon as — Incorrect; implies immediacy, not a condition. 
➤ B) Where — Incorrect; does not fit the context. 
➤ C) If — Incorrect; suggests a hypothetical situation, but "when" is 
more suitable. 

 

24- Choose the correct form of the tense to complete the sentence.  

I ____________(sleep) before you arrive from the party. 

A) will have slept 

B) will have sleep 

C) sleeps 

D) will be sleeping 

 

Ans- A 

 

Explanation: The correct form is "will have slept," which is future perfect tense, used to 
describe an action that will be completed before another future event. 

Other Options: 
➔ B) Will have sleep: Incorrect structure for future perfect tense. 
➔ C) Sleeps: Present simple tense, inappropriate for future events. 
➔ D) Will be sleeping: Future continuous tense, which indicates ongoing action in the 
future but not completion before another event. 

 

25- Fill in the blank with suitable tense. 

I have been studying for the past 2 hours. I ________ rest. 
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(A) need   

(B) have needed 

(C) will be needing 

(D) needed 

 

Ans- A 

 

Explanation: The correct form is "need," which is simple present tense, used to describe 
an immediate requirement after an ongoing action. 

Other Options: 
➔ B) have needed: Present perfect, unnecessary here because "need" refers to a current 
state. 
➔ C) will be needing: Future continuous, inappropriate for the current context. 
➔ D) needed: Past tense, not suitable for present requirements. 

 

26- He _______ on describing his operation in graphic detail while 
we _______ lunch. 

 

A) insisted, were eating 

B) insists, are eating 

C) insisted, eat 

D) has insisted, ate 

 

Ans- A 

 

Key Points: 
➔ The verb "insisted" is past tense and "were eating" is past continuous, indicating an 
ongoing action in the past while another event occurred. 
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Other Options: 
➔ B) insists, are eating: Present tense is incorrect here since the action occurred in the 
past. 
➔ C) insisted, eat: The second verb should be in past continuous to match the past 
context. 
➔ D) has insisted, ate: The present perfect tense "has insisted" doesn’t fit the past 
continuous structure. 

 

27- Choose any one of the correct sentence to make passive voice 
of the given sentence.  

The report was prepared by her. 

 

A) She prepared the report. 

B) She prepares the report. 

C) She preparing the reports. 

D) She did preparing of report. 

 

Ans- A 

 

Explanation: "She prepared the report" is the correct conversion to the active voice from 
"The report was prepared by her" because the original sentence is in the past tense, and 
the active voice maintains this tense accurately. 

Other Options: 
➔ B) She prepares the report: Incorrect because it changes the tense to present, 
whereas the original sentence is in the past tense. 
➔ C) She preparing the reports: Incorrect due to improper grammatical structure—it 
lacks the correct verb form. 
➔ D) She did preparing of report: Incorrect because it is an awkward and non-standard 
phrasing, and the verb form is not appropriate for the sentence. 

 

28- Choose the direct speech of the given sentence:  

He told me that he had told me not to play with fire. 
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A) He said to me, "I have you not to play with fire" 

B) He said to me, "I had often said to you not to play with fire." 

C) He said to me, "I have told you not to play with fire." 

D) He said to me, "I have often told you not to play with fire." 

 

Ans- C 

 

Explanation: 
The sentence in direct speech would be: "I have told you not to play with fire." This keeps 
the meaning and tense consistent with the original sentence. 

Other Options: 
➤ A) Incorrect because of the wrong subject-verb agreement: "I have you" is incorrect. 
➤ B) Incorrect because "had often said" implies a past perfect tense not present in the 
original. 
➤ D) Incorrect because "I have often told" adds unnecessary frequency, which is not 
implied. 

 

29- Choose one word for the following: 

Very slow and inactive 

 

A) disfigured 

B) extracted 

C) sluggish 

D) exhausted 

 

Ans- C 
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Explanation: Sluggish means very slow and inactive. It 
describes someone or something moving or functioning 
slowly. 

Other Options: 
➔ A) Disfigured — Damaged in appearance. 
➔ B) Extracted — Removed or taken out. 
➔ D) Exhausted — Extremely tired. 

 

30- Choose one word for the following: 

To be sick with worry 

 

A) Distraught 

B) Alarmed 

C) Astonished 

D) Disappointed 

 

Ans- A 

 

Explanation: Distraught means deeply upset and agitated, 
often caused by worry. 

Other Options: 
➔ B) Alarmed — Worried or frightened. 
➔ C) Astonished — Extremely surprised. 
➔ D) Disappointed — Sad or displeased due to unmet 
expectations. 

 

31- Choose the best option from the given alternatives which can 
be substituted for the given word/sentence. 
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A list of explanations of rare, technical or obsolete words 

 

(A) Antonym 

(B) Acronym  

(C) Glossary  

(D) Synonym 

 

Ans- C 

 

Explanation: Glossary is a list of explanations of rare, 
technical, or obsolete words, typically found at the end of a 
book. 

Other Options: 
➔ A) Antonym — A word with the opposite meaning. 
➔ B) Acronym — A word formed from the initials of other 
words. 
➔ D) Synonym — A word with the same or similar meaning. 

 

32. Which is the most appropriate one word substitution of the 
following? 

Speaking without preparation : 

(A) Deliberate 

(B) Fluent 

(C) Loquacious 

(D) Extempore 

 

Ans- D 
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Explanation: Extempore means speaking without any 
preparation. 

Other Options: 
➔ A) Deliberate — Refers to something done intentionally. 
➔ B) Fluent — Refers to speaking smoothly. 
➔ C) Loquacious — Refers to being talkative. 

 

33. Which is the most appropriate one word substitution of the 
following? 

One who helps people by giving them money or other aid : 

(A) Benefactor 

(B) Beneficiary 

(C) Tycoon 

(D) Patriot 

 

Ans- A 

 

Explanation: Benefactor refers to someone who helps 
others by giving them money or aid. 

Other Options: 
➔ B) Beneficiary — Refers to the person receiving help. 
➔ C) Tycoon — Refers to a wealthy businessperson. 
➔ D) Patriot — Refers to someone who loves their country. 

 

34- Choose the option that best describes the idiom "By a canvas". 

A) By a big margin 
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B) By a small margin 

C) By no margin 

D) By the picture of 

 

Ans- B 

 

Means- The idiom "By a canvas" means by a small margin. 

Examples- 
➔ The runner won the race by a canvas, barely edging out his 
competitor. 
➔ She passed the exam by a canvas, just meeting the required score. 

 

35- Choose the option that best describes the idiom "In cahoots". 

 

A) Working or conspiring together 

B) Working or conspiring alone 

C) Not working or conspiring 

D) Working on loyalty and integrity  
 

Ans- A 

 

Means- The idiom "In cahoots" means working or conspiring together. 

Examples- 
➔ The two companies were in cahoots to raise prices and reduce 
competition. 
➔ It was revealed that the criminals were in cahoots with local 
officials. 
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36- The idiom "See the elephant" means 

 

A) gaining true and valuable life experience of the world 

B) gaining true and valuable life experience from stories 

C) seeing the obvious in valuable life experience of the world 

D) seeing what is shown to one in the life experience of the world 

 

Ans- A 

 

Means- The idiom "See the elephant" means gaining true and valuable 
life experience of the world. 

Examples- 
➔ After traveling for years, he can truly say he has seen the elephant. 
➔ The soldiers in the war got to see the elephant and learned life 
lessons that can't be taught in books. 

 

37- The idiom "Famous for being famous" means  

A) having no recognizable reason for your fame other than high media 
exposure 

B) having recognizable reason for your fame other than high media 
exposure 

C) having the real qualities of a famous celebrity 

D) having the dislike for being famous 

 

Ans- A 
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Means- The idiom "Famous for being famous" means having no 
recognizable reason for your fame other than high media exposure. 

Examples- 
➔ The socialite was famous for being famous, with no real talents or 
achievements to her name. 
➔ Some celebrities are simply famous for being famous, constantly 
in the media spotlight without contributing much. 

  

38- Find out the option that best describes the idiom "Go Ballistic". 

 

A) Use missiles 

B) Get frustrated 

C) Being calm and quiet 

D) Fly into a rage  
 

Ans- D 

 

Means- The idiom "Go ballistic" means to fly into a rage. 

Examples- 
➔ When he found out about the mistake, he went ballistic and started 
yelling. 
➔ She went ballistic when her computer crashed right before 
submitting the assignment. 

 

39. The fake God man is helping poor people because he has his 
own axe to grind and not because he cares about their welfare. 

A) troubles to deal with 

Te
ch
 O
f  W

orl
d 

     
     
 Ap

p



 

 

B) have an ulterior motive 

C) to think deeply 

D) to act selflessly 

 

Ans- B 

 

Means- The idiom "Have an axe to grind" means to have an ulterior 
motive. 

Examples- 
➔ She offered to help, but I’m sure she has an axe to grind. 
➔ His criticism of the project seemed to suggest he had an axe to 
grind. 

 

40- Choose the antonym of the underlined word in the given 
sentence. 

The committee couldn't take the decision to punish the culprit. 

 

A) Group 

B) Person 

C) Administrator 

D) Individual 

 

Ans- D 

 

The antonym of the word "committee" in the given sentence is: D) 
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Individual 

A) Group: A collection of individuals or entities with a shared purpose 
or common characteristics, working together towards a common goal. 

B) Person: An individual human being with their own unique identity, 
thoughts, feelings, and experiences. 

C) Administrator: Someone who holds a position of authority or 
responsibility in managing and overseeing the operations, decisions, 
and coordination of an organization or system. 

D) Individual: A single human entity with their own distinct traits, 
preferences, and agency, separate from any group or collective. 

A) Group: ଏକ ଅଂଶୀଦାର ଉେ�ଶ� ବା ସାଧାରଣ େବ�ଶ�ି� ଥ �ବା ବ��ି କି� �ା ସଂ�ାର 
ଏକ ସଂ�ହ, ଏକ ସାଧାରଣ ଲ�� ଦିଗେର ଏକାଠି କାଯ�� କରିବା । 

B) Person: ନିଜର �ତ� ପରିଚୟ, ଚି�ାଧାରା, ଭାବନା ଓ ଅନୁଭୂତି ଥ �ବା ବ��ି। 

C) Administrator: େକୗଣସି ସଂ�ା କି� �ା ବ�ବ�ାର ପରିଚାଳନା, ନି��ି ଏବଂ ସମ� �ୟ 
ପରିଚାଳନା ଏବଂ ତଦାରଖ କରିବାେର କ��ୃ ପ� କ�ି �ା ଦାୟି�ସ�� ବ��ି । 

D) Individual: ଏକକ ମାନବ ଏକତା ଯାହାର ନିଜର �ତ� ଗଣୁ, ପସ� ଏବଂ ଏେଜ�ି � 
ଅଛି, ଯାହା େକୗଣସି େଗା��ୀ କି� �ା ସାମହିୂକଠାରୁ ଅଲଗା ଅେଟ । 

 

41- Identify the correct Antonym: Soar 

 

A) Plummet 

B) Rise 

C) Sleep 

D) Fail 
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Ans- A 

 

The correct antonym for "soar" is A) Plummet. "Soar" means to rise or 
fly high in the air, while "plummet" means to fall or drop rapidly. 

A) Plummet: To rapidly and steeply fall or decrease in value, quantity, 
or quality. It implies a significant and often sudden decline or drop. 

B) Rise: To increase or move upward in value, quantity, or quality. It 
suggests a positive upward movement or growth. 

C) Sleep: A natural state of rest in which consciousness is temporarily 
suspended, usually accompanied by a decrease in physical activity and 
mental awareness. 

D) Fail: To be unsuccessful or not meet expectations or objectives. It 
indicates a lack of success or achievement in a particular endeavour or 
task. 
A) Plummet: ମଲୂ�, ପରିମାଣ କି� �ା ଗଣୁବ�ାେର �ତ ଏବଂ �ତ �ାସ କି� �ା �ାସ। 
ଏହାର ଅଥ� େହଉଛି ଏକ ଗରୁୁ�ପ�ୂ� ଏବଂ �ାୟତଃ ହଠାତ୍ �ାସ କି� �ା �ାସ। 

B) Rise: ମଲୂ�, ପରିମାଣ କି� �ା ଗଣୁବ�ା େର ବୃ�ି କି� �ା ଉପରକୁ ଯିବା । ଏହା ଏକ 
ସକାରା�କ ଉ�ତି ବା ଅଭିବୃ�ି ସଚୂାଇଥାଏ । 

C) Sleep: ବି�ାମର ଏକ �ାକୃତିକ ଅବ�ା େଯଉଥଁ �େର େଚତନା ସାମୟିକ ଭାବେର �ଗିତ 
ରହିଥାଏ, ସାଧାରଣତଃ ଶାରୀରିକ କାଯ��କଳାପ ଏବଂ ମାନସିକ ସେଚତନତା �ାସ 
ପାଇଥାଏ । 

D) Fail: ଅସଫଳ େହବା କି� �ା ଆଶା କି� �ା ଉେ�ଶ� ପରୂଣ ନ କରିବା । ଏହା ଏକ ନି��� 
�ୟାସ  କି��ା କାଯ��େର ସଫଳତା କି� �ା ସଫଳତାର ଅଭାବକୁ ସଚିୂତ କେର | 

 

42- Choose the correct antonym: Futile 

 

(a) waste 
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(b) funny 

(c) effective  

(d) functional  

 

Ans- C 

 

The correct antonym for "futile" is c) effective. "Futile" means pointless 
or without any useful outcome, while "effective" means producing the 
desired result or being successful. 

(a) Waste: Refers to something that is unused, discarded, or not fully 
utilized, often implying a loss of resources or potential. 

(b) Funny: Describes something that elicits amusement, laughter, or a 
sense of humor. 

(c) Effective: Producing the desired results or outcomes, having a 
positive impact or influence. 

(d) Functional: Serving its intended purpose or designed to work 
efficiently, typically referring to something practical and usable. 

(a) Waste: ଅବ�ବହୃତ, ପରିତ�� କି� �ା ସ��ୂ� ଭାବେର ବ�ବହୃତ େହାଇନଥ�ବା ଜିନିଷକୁ ବୁଝାଏ, ଯାହା 
�ାୟତଃ ସ��ଳ କି� �ା ସ�ାବନାର �ତିକୁ ସଚିୂତ କେର । 

(b) Funny: ଏପରି କଛିି ବ��ନା କେର ଯାହା ମେନାର�ନ, ହସ କି� �ା ହାସ�ର ଭାବନା ସ�ିୃ କେର । 

(c) Effective: ଆଶାନୁରୂପ ଫଳାଫଳ ବା ଫଳାଫଳ ସ�ିୃ କରିବା, ସକାରା�କ �ଭାବ ବା �ଭାବ ପକାଇବା। 

(d) Functional: ଏହାର ଉ�ି� ଉେ�ଶ� ପରୂଣ କରିବା କି� �ା ଦ�ତାର ସହ କାଯ�� କରିବା ପାଇ ଁଡିଜାଇନ୍ 
କରାଯାଇଛି, ସାଧାରଣତଃ କଛିି ବ�ବହାରିକ ଏବଂ ଉପେଯାଗୀ ବିଷୟକୁ ସଚିୂତ କେର । 

  

43- Select the correct synonym for the underlined word.  
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Very often employees feel that their colleagues have been silently 
spirited out of the company in a surreptitious manner. 

 

(A) disdainful 

(B) comradely 

(C) clandestine 

(D) rational 

 

Ans- C 

 

The correct synonym for "surreptitious" is (C) clandestine. 
Surreptitious means secret or stealthy, and "clandestine" is a synonym 
that conveys a similar meaning. 

(A) Disdainful: Showing contempt or lack of respect; scornful. 

(B) Comradely: Marked by goodwill and camaraderie; friendly and 
supportive. 

(C) Clandestine: Done in secrecy or concealment, often for illicit or 
deceptive purposes. 

(D) Rational: Based on reason or logical thinking; sensible and 
coherent. 

(A) Disdainful: ଅବମାନନା କି� �ା ସ�ାନର ଅଭାବ �ଦଶ�ନ କରିବା; ନ�ିନୀୟ। 

(B) Comradely: ସଦ୍ ଭାବନା ଏବଂ ବ�ୁ� �ାରା ଚି�ିତ; ବ�ୁ�ପ�ୂ� ଏବଂ ସମଥ�କ। 

(C) Clandestine: �ାୟତଃ େବଆଇନ କି� �ା �ମା�କ ଉେ�ଶ�େର େଗାପନୀୟତା କି� �ା ଲୁଚାଇ 
ରଖାଯାଇଥାଏ । 
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(D) Rational: ଯ�ିୁ ବା ଯ�ିୁଯ�ୁ ଚି�ାଧାରା ଉପେର ଆଧାରିତ; ବୁ�ିମାନ ଏବଂ ସସୁ�ତ । 

 

44- Select the correct synonym for the underlined word.  

Several pristine habitats are now under the threat of the axe. 

 

(A) stained 

(B) unspoilt 

(C) appropriate 

(D) decaying 

 

Ans- B 

 

The correct synonym for "pristine" is (B) unspoilt. Pristine means 
clean, pure, or untouched, and "unspoilt" is a synonym that captures 
the same idea. 

(A) Stained: Marked or discolored, often due to a specific substance or 
event. 

(B) Unspoilt: Remaining in a natural or original state, without being 
damaged or altered. 

(C) Appropriate: Suitable or fitting for a particular purpose or 
situation. 

(D) Decaying: Showing signs of decomposition or deterioration, often 
associated with organic matter or objects. 

(A) Stained: ଚି�ିତ କି� �ା ବିକୃତ, �ାୟତଃ ଏକ ନି��� ପଦାଥ� କି� �ା ଘଟଣା କାରଣରୁ। 
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(B) Unspoilt: �ତି�� କ�ି �ା ପରିବ��ନ ନକରି �ାକୃତିକ କି� �ା ମଳୂ ଅବ�ାେର ରହିବା। 

(C) Appropriate: ଏକ ନି��� ଉେ�ଶ� ବା ପରି�ିତି ପାଇ ଁଉପଯ�ୁ ବା ଉପଯ�ୁ। 

(D) Decaying: �ାୟତଃ େଜ�ବିକ ପଦାଥ� ବା ବ�ୁ ସହିତ ଜଡିତ ପତନ ବା ଅବନତିର ଲ�ଣ େଦଖାଯାଏ । 

 

45- Select the correct synonym for the underlined word.  

 

"The world," said the old man, "requires a synergistic effort on the 
part of all countries for its continued survival". 

 

(A) coordinated 

(B) divergent 

(C) upended 

(D) stupendous 

 

Ans- A 

 

The correct synonym for "synergistic" is (A) coordinated. Synergistic 
refers to the combined or cooperative action of different elements 
producing a greater effect, and "coordinated" aligns with this 
meaning. 

(A) Coordinated: Organized or arranged in a harmonious and efficient 
manner. 

(B) Divergent: Moving or extending in different directions; deviating 
from a common point or path. 
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(C) Upended: Turned or flipped upside down or in an inverted 
position. 

(D) Stupendous: Extraordinarily impressive, remarkable, or awe-
inspiring in size, extent, or degree. 

 

46- Choose the option that is most appropriate synonym to the 
given word  

Trivial 

 

(a) Significant 

(b) Momentous 

(c) Unimportant  

(d) Critical 

 

Ans- C 

 

The most appropriate synonym for "trivial" is (C) unimportant. Trivial 
means of little importance or significance, and "unimportant" is a 
synonym that captures the same meaning. 

(a) Significant: Having importance or meaning, noteworthy or 
consequential. 

(b) Momentous: Having great importance or significance, especially in 
terms of consequences. 

(c) Unimportant: Lacking significance or importance, not noteworthy 

Te
ch
 O
f  W

orl
d 

     
     
 Ap

p



 

 

or consequential. 

(d) Critical: Involving or expressing a crucial or decisive point, crucially 
important or essential. 

(a) Significant: ଗରୁୁ� ବା ଅଥ�, ଉେ�ଖନୀୟ ବା ଫଳ�ଦ। 

(b) Momentous: ବିେଶଷ କରି ପରିଣାମ ଦୃ�ିରୁ ଏହାର ବହୁତ ଗରୁୁ� ବା ମହ� ରହିଛି । 

(c) Unimportant: ଗରୁୁ� କି� �ା ଗରୁୁ�ର ଅଭାବ, ଉେ�ଖନୀୟ କି� �ା ଫଳ�ଦ ନୁେହ ଁ। 

(d) Critical: ଏକ ଗରୁୁ�ପ�ୂ� କି� �ା ନ�ି�ାୟକ ବି�ୁକୁ ସାମିଲ କରିବା କି� �ା �କାଶ କରିବା, ଅତ�� ଗରୁୁ�ପ�ୂ� 
କି� �ା ଅତ�ାବଶ�କ । 

 

47- Choose the word which best expresses the similar meaning of 
the given word " 

DISGUISE ". 

 

(A) Divulge 

(B) Disclose 

(C) Represent 

(D) Conceal  

 

Ans- D 

 

 The word that best expresses the similar meaning of "DISGUISE" is "D) 
Conceal." "Disguise" and "Conceal" both involve hiding or concealing 
one's true identity or appearance. 
(A) Divulge: To disclose or reveal information that was previously kept 
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secret or private. 

(B) Disclose: To make known or reveal information that was previously 
hidden or confidential. 

(C) Represent: To act as a symbol or embodiment of something; to 
depict or describe someone or something in a particular way. 

(D) Conceal: To hide, cover, or keep something secret or out of sight. 

 

48- Fill in the blank with the correct spelling from among the given 
options. 

Tom was accused of ______ when it was found that he had copied 
the story from his contemporary's book. 

 

A) plegiarism 

B) Plagiarism 

C) plegerism 

D) plagarism 

 

Ans- B 

 

Explanation- The correct spelling is Plagiarism, meaning "the practice of taking someone 
else's work or ideas and passing them off as one's own." 

Other Options- 
➔ Plegiarism – Incorrect spelling, no meaning. 
➔ Plegerism – Incorrect spelling, no meaning. 
➔ Plagarism – Incorrect spelling, no meaning. 

 

49- Fill in the blank with the correct spelling from among the given 
options. 
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There is no ______ that can cure brain tumor immediately. 

 

A) pannacea 

B) panacea 

C) panecea 

D) penecea 

 

Ans- B 

 

Q No:- 49 
Correct Option: B) panacea 

Explanation: 
➔ The spelling panacea is the correct one, as used in both medical 
and general language to signify a complete solution to a problem. 

Other Options: 
➔ pannacea: Incorrect spelling. 
➔ panecea: Incorrect spelling. 
➔ penecea: Incorrect spelling. 

 
 

50- Choose the correct spelling of the missing word. 

If you have measles you will be _______________________ 

 

A) quarentined 

B) quarantined 

C) querantined 
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D) qurantined 

 

Ans- B 

 

 
Correct Option: B) quarantined 

Explanation: 
➔ The word quarantine originates from the Italian word "quaranta," meaning forty, 
which referred to a 40-day isolation period during the time of plague outbreaks. 

Other Options: 
➔ quarentined: Incorrect spelling. 
➔ querantined: Incorrect spelling. 
➔ qurantined: Incorrect spelling. 

 

ODIA 

ଅନୁେ�ଦଟି ପାଠକରି ��� ଗଡ଼ୁକିର ଉ�ର ବାଛ : 

ଫକୀର େମାହନ ଓଡ଼ଆି ଜାତରି ପରମ ନମସ� ଅ�ାଦଶ ଓ ଊନବିଂଶ ଏହି ଦୁଇ ଶତକର ଓଡ଼ଆି 
ସମାଜ, ତାʼର ଅବେହଳତି େଶାଷିତ ସାଧାରଣ େଲାକ ଜୀବନର, ତାʼର ଆଶା ଆକାଂ�ା, ଅଭାବ 
େଦ�ନ�, ବ�ଥ�ତା ଓ େନ�ରାଶ�ର େସ ଜେଣ ଅ�ର� ରୂପକାର । ପଣୁ ିେସ ରୂପ �କାଶ ପାଇଛି 
େଯଉ ଁଭାଷାେର, ତାହା ଖା�ି ଓଡ଼ଆି େଲାକ ଜୀବନର ଭାଷା, ଓଡ଼ଆି ଘରର ଅତ ିପରିଚିତ ତୁ�ର 
ଭାଷା । ଜ��ରୁ ମତୁୃ� ପଯ��� ଫକୀର େମାହନ�ର ଜୀବନ ଥ �ଲା ଝଡ଼ଝ�ା ପ�ୂ�। �ତକିୂଳ 
ପରି�ିତେିର ଏକାଧ �କବାର ଜୀବନ ସ�ଟରୁ ଅ�ତ�ାଶତି ଭାବେର ର�ା ପାଇ, ଆ�ୀୟ ଓ 
ଇତର�ଠାରୁ ବହୁବାର ତା�ଲ�, ଅବେହଳା, ଈଷ�ା ଓ ବି�ାସଘାତକତାର ଧକ୍ କା ଖାଇ େସ 
ମଣଷି ଚରି� ଓ ତାʼର ସମାଜ ସ�କ�େର ଚି�େର ସ�ତି କରିଥ �େଲ ବହୁ ତ�ି-ମଧରୁ ଅନୁଭୂତ ି। 
େସ ଅନୁଭୂତରି ତୀ� ଆେଲାଡ଼ନ ଫଳେର େସ ଜଗତକୁ ଏକ ଅନାସ� ଦୃ�ିେର େଦଖ �ବାେର 
ଅଭ�� େହାଇଯାଇଥ �େଲ । େସ ସାଧାରଣ ସଂସାରୀ େଲାକର ଛଳନା, ମିଥ�ା ଦ� ଓ ଅହମିକା 
କଟା�ପାତ କରି ହାସ�, ବ�� ଓ ବିଦ୍ରୂପର େ�ାତ ଛୁଟାଇଛ�ି । ନିେଜ ଜୀବନେର ଅଜ� 
ଯ�ଣା ସହିଥ �ବାରୁ ସମାଜର େଶାଷିତ, ଲା�ିତ ଓ ଅବେହଳିତ� �ତ ିତା� ଅ�ରର ଦରଦ ଓ 
ସହାନୁଭୂତ ି ଥ �ଲା ଅସୀମ । ସାହିତ�, ଜୀବନ, ସମାଜ ଓତେ�ାତ ଭାବେର ଜଡ଼ତି । ମଣଷିର 
ଆଶା, ଆକାଂ�ା, ସମାଜର �� ବି��ୁ �ାଣ ��ନକ ୁବାଦ େଦଇ ସାହିତ� େକେବ �ାଣବ� ଓ 

Te
ch
 O
f  W

orl
d 

     
     
 Ap

p



 

 

ସମ�ୃ େହାଇନପାେର । େଲଖକର ସମାହତି ଦୃ�ିବ�ାଧ � ପୀଡ଼ତି ସମାଜର ସ�ୁତା ଓ ତାʼର 
ରୂପା�ର ଚାହିଁବା �ାଭାବିକ । େସଥ �ପାଇ ଁ ଫକୀର େମାହନ େଶାଷିତ ଓ ଅବେହଳିତ� ପାଇ ଁ
ଚାହିଁଛ�ି ସାମାଜିକ ନ�ାୟ । ଉ� େହଉ, ନୀଚ େହଉ, ଧନୀ େହଉ, ଗରିବ େହଉ — ମଣଷି �ତ ି
ତା�ର ��ା ଅସୀମ । 

 

51- ଫକୀର େମାହନ ଓଡ଼ଆି ଜାତରି ନମସ� କାହିଁକ ି? 

(A) େସ �ସି� ଛʼ ମାଣ ଆଠଗ�ୁ ଉପନ�ାସର େଲଖକ । 

(B) ଓଡ଼ଆି ଭାଷାେର ଜୀବନର େସ �ଥମ ସଫଳ ରୂପକାର । 

(C) ବିଗତ ଦୁଇ ଶତା�ୀର ଚି� େସ ତା� େଲଖାେର େଦଇଛ�ି । 

(D) େସ େଦଶ ବିେଦଶର ସାହିତ�ିକ� �ାରା �ଶଂସିତ େହାଇଛ�ି । 

 

Ans- B 

 

52- େଲଖାେର ସମାଜର ବା�ବ ଚି� େଦବାକୁ େଲଖକ�ର େକଉ ଁଗଣୁଥ �ବା ଆବଶ�କ ? 

(A) େସ ସମାଜର ଦୁଃଖୀ ଦୁବ�ଳ େଲାକ� ଯଥାଥ� େସବକ େହାଇଥ �େବ । 

(B) େସ ସମାଜର ସମସ�ା ଓ େଲାକ ଚରି�ର �ତ�� ସଂପକ�େର ଆସିଥ �େବ । 

(C) େସ ବ�� ବିଦ୍ରୂପ େଶ�ଳୀେର ଗ� ଉପନ�ାସ େଲଖଥୁ �େବ । 

(D) େସ ସମାଜ-ବି�ାନ ଶା� ଭଲଭାବେର ଅ�ୟନ କରିଥ �େବ । 

 

Ans- B 

 

53- େକଉ ଁେଲଖକ ହାସ� ରସିକ ? 

(A) େଯଉ ଁେଲଖକ ହସିବାକୁ ଇ�ା କର�ି । 
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(B) େଯଉ ଁେଲଖକ ରସିକ । 

(C) ବୀର, କରୁଣ ଆଦି ରସମାନ� ମ�ରୁ େଯଉ ଁେଲଖକ ହାସ�ରସକୁ ଭଲପାଆ�ି । 

(D) ବ��ନା ଚରି� ଓ ଘଟଣା ଚି�ଣେର େଯଉ ଁେଲଖକ ହାସ�ରସ ସ�ିୃ କର�ି । 

 

Ans- D 

 

54- ଫକୀର େମାହନ�ୁ େକଉମଁାେନ ଈଷ�ା କରୁଥ �େଲ ? 

(A) ଆ�ୀୟ ଓ ଇତରେଲାକ 

(B) ସାଧାରଣ ସଂସାରୀ େଲାକ 

(C) ବ�ୀୟ ଔପନ�ାସିକଗଣ 

(D) ସରକାରୀ କମ�ଚାରୀ 

 

Ans- A 

 

55- ସମାଜର େକଉମଁାନ� �ତ ିଫକୀର େମାହନ�ର ବିେଶଷ ସହାନୁଭୂତ ିଥ �ଲା ? 

(A) ଇଂରାଜୀ ଶ�ିା�ତ ିବିମଖୁ େହଉଥ �ବା ବ��ି 

(B) ସାହିତ�ଚ��ା କରୁଥ �ବା ଶ�ିିତ େଗା��ୀ । 

(C) ଅତ�ାଚାର ବିେରାଧେର �ତବିାଦ କରୁଥ �ବା ବ��ି । 

(D) େଶାଷିତ ଓ ଅବେହଳତି େଗା��ୀ । 

 

Ans- D 
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‘ଶକିାର’ ଗ� ଭଗବତୀ ଚରଣ ପାଣ�ିାହୀ� େଶାଷକ େଗା��ୀମାନ� ବିରୁ�େର ଏକ ଚରମ �ର 
ଉେ�ାଳନ । ଘିନୁଆ େଶାଷକ, ଦଳିତ ଅବେହଳତି େଗା��ୀର ସାଥ�କ �ତନିିଧ ୂ। ତା' ବାହୁେର ଅଛି 
ଅମାପ ବଳ ଓ ହୃଦୟେର ଅସୀମ ସାହସ । େଯଉ ଁ ହିଂ�ଜ�ମାେନ ମଣଷିର ଯତ ି କର�ି 
େସମାନ�ୁ େସ ଶକିାର କେର । ଗା�ିକ ପାଣ�ିାହୀ େଗାବି� ସଦ�ାର�ୁ ସାମ�ବାଦୀ େଶାଷକ 
େଗା��ୀର �ତନିିଧ ୂରୂେପ ଚି�ଣ କରିଛ�ି । େଗାବି� ସଦ�ାର ଚରି�କ ୁପାଠକମାନ� ସା��ାେର 
ପରିଚିତ କରିବାକୁ ଗା�କି କହିଛ�ି । “େଗାବି� ସ��ାର ସବୁେବେଳ ମଟରେର ଯିବା ଆସିବା 
କେର । େସ ତାର ଧନସ��ି କମାଇଛି ଅନ� ସମ��ୁ ଲୁଟିକରି, େକେତ େଲାକ�ୁ େସ ମାରିଛି, 
େକେତ େଲାକ�ୁ ଉ�� ଭୟାନକ ଓ ମାରା�କ । ଗରିବ ଆଦିବାସୀ ମଣଷିର ଲୁହ ଦାନେର 
ଅଜ�ଛି ଅେନକ ଧନସ��ି, ଅବେହଳିତ ସବ�ହରାର �ତୀକ ଘିନୁଆ ତାର ଜମିବାଡ଼ ିଯିବା ଦୁଃଖକୁ 
ନିଜ ହୃଦୟ ଭିତେର ଚାପି ରଖଥୁଲୁା, େଗାବି� ସଦ�ାରର ଗ�ୁାପଣ ଭୟେର । ନିଜ �ୀ �ତ ି
େଲାଲୁପ ଦୃ�ି ରଖ ୁଆ�ମଣ କରୁଥ �ବାର ଦୃଶ�କୁ ଘିନୁଆ ହଜମ କରିପାେର ନାହିଁ । ଘିନୁଆର 
ଟା�ିଆ େଚାଟେର େଗାବି� ସଦ�ାର ଟଳିପେଡ଼ । ତାକୁ ହତ�ା କରି ଘିନୁଆ ଆ�ସେ�ାଷ ଲାଭ 
କରିଛି । 

 

56- େଗାବି� ସ��ାର କାହା ଠାରୁ େବଶୀ ଭୟାନକ? 

(A)  କୁକୁର 

(B)  ସାପ 

(C)  ପାଗଳ 

(D)  ମହାବଳ ବାଘ 

 

Ans-  D 

 

57- େଗାବି� ସ��ାରର େକଉ ଁଭୁଲ୍ ପାଇ ଁତାକୁ ହତ�ା କରାଯାଇଛି? 

(A)  ଘିନୁଆ �ୀର ଇ�ତ େନଇଥ �ବାରୁ 

(B)  ଠକିଛି 

(C)  େଚାରି କରିଛି 
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(D)  ଲୁ�ନ କରିଛି 

 

Ans-  A 

 

58- ଶକିାର ଗ�େର ସାମ�ବାଦୀ େଶାଷକ େଗା��ୀର �ତନିଧି � କିଏ? 

(A)  ମହାବଳ 

(B)  ଘିନୁଆ 

(C)  େଗାବି� ସ��ାର 

(D)  ଆଦିବାସୀ 

 

Ans-  C 

 

59- ଭଗବତୀ ଚରଣ ପାଣ�ିାହୀ� େକଉ ଁ ଗ�େର େଶାଷକ େଗା��ୀ ବିରୁ�େର ଚରମ �ର 
�କାଶତି ? 

(A)  ସ��ାର 

(B)  ଘିନୁଆ 

(C)  େଗାବି� 

(D)  ଶକିାର 

 

Ans-  D 

 

60- ଶକିାର ଗ�ର ମଖୁ� ଚରି� କିଏ ? 
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(a) ମହାବଳ 

(B)  ସ��ାର 

(C)  େଗାବି� 

(D)  ଘିନୁଆ 

 

Ans-  D 

 

61- ଇଂରାଜୀ ଅନୁେଛଦର ସଠିକ ଓଡ଼ିଆ ଅନୁବାଦ ଚୟନ କର l 

Not being allowed to enter the class, the boy went back 

A. ��ାସେର ପଶବିାକୁ ଅନୁମତି ନ ପାଇ ପିଲାଟି ଘରକୁ େଫରିଯିବ l 

B. ��ାସେର ପଶବିାକୁ ଅନୁମତି ପାଇ ମ� ପିଲାଟି ଘରକୁ େଫରିଯିବ l 

C. ��ାସେର ପଶବିାକୁ ଅନୁମତି ନ ପାଇ ପିଲାଟି ଘରକୁ େଫରିଗଲା । 

D. ��ାସେର  ପଶବିାକୁ ଅନୁମତି ପାଇ ମ� ପିଲାଟି ଘରକୁ େଫରିଗଲା । 

 

Ans- C 

 

62- ଇଂରାଜୀ ଅନୁେଛଦର ସଠିକ ଓଡ଼ିଆ ଅନୁବାଦ ଚୟନ କର 

His leg was broken for he had been running along a mossy path. 

A. ତାର େଗାଡ ଭା�ି ଯାଇଥ �ଲା କାରଣ େସ ଏକ ଶଉିଳି ପଡଥି �ବା ରା�ାେର େଦୗଡୁଥ �ଲା। 

B. ଶଉିଳି ପଡିଥ �ବା ରା�ାେର ଚାଲୁ ଥ �ବାରୁ ତାର େଗାଡ ଭା�ି ଯାଇଛି। 

C. ହୁଏତ ଶଉିଳି ପଡିଥ �ବା ରା�ାେଯାଗ ଁ ୁତାର େଗାଡ ଭା�ିଗଲା । 

D. େସ େଦୗଡୁ ଥ �ବାରୁ ତାର େଗାଡ ଭା�ିଯାଇଛି େବାେଧ । 
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Ans- A 

 

63- ଇଂରାଜୀ ଅନୁେଛଦର ସଠିକ ଓଡ଼ିଆ ଅନୁବାଦ ଚୟନ କର 

Tomorrow is Sunday. I am taking my children to Nandankanan. 

A. କାଲି ରବିବାର । ମ ଁ ୁେମାର ପିଲାମାନ�ୁ ନ�ନକାନନରୁ ଆଣବିି । 

B. କାଲି ରବିବାର ଥ �ଲା I ମ ଁ ୁେମାର ପିଲାମାନ�ୁ ନ�ନକାନନ େନଇଥା�ି I 

C. କାଲି ରବିବାର ଥ �ଲା । ମ ଁ ୁେମାର ପିଲାମାନ�ୁ ନ�ନକାନନ େନଇଥ �ଲି । 

D. କାଲି ରବିବାର । ମ ଁ ୁେମାର ପିଲାମାନ�ୁ ନ�ନକାନନ େନବି I 

 

Ans- D 

 

64- ଇଂରାଜୀ ଅନୁେଛଦର ସଠିକ ଓଡ଼ିଆ ଅନୁବାଦ ଚୟନ କର 

You couldn’t have passed the examination without my help. 

A. େମା ସାହାଯ�� ବିନା ତୁେମ ପରୀ�ାେର ପାସ କରିପାରିବ ? 

B. ତୁେମ କଣ ପରୀ�ାେର ପାସ କରିପାରିବ େମା ସାହାଯ�� ବିନା ? 

C. େମା ସାହାଯ�� ବିନା ତୁେମ ପରୀ�ାେର ପାସ କରିପାରିନଥା� । 

D. େମା ସାହାଯ�� ବିନା ତୁେମ ପରୀ�ାେର କଦାପି ପାସ କରିପାରିବନାହଁି । 

 

Ans- C 

 

Te
ch
 O
f  W

orl
d 

     
     
 Ap

p



 

 

65. The Sub-Inspector of Excise is vested with power of entry, 
search, seizure and arrest under the NDPS Act. 

A) ଏ�ିପିଏସ ଆଇନ ଅଧୀନେର �େବଶ, ତନଖ� ଓ ଆେର� କରିବାର �ମତା ଅବକାରୀ 
ଇନିସେପ��ର�ୁ ଦିଆଯାଇଥାଏ । 

B) ଏ�ିପିଏସ ଆଇନ ଅଧୀନେର ରିେପାଟ�, ବ�ାଜ�ା�ି ଏବଂ ଆେର� କରିବାର �ମତା 
ଅବକାରୀ ସବ ଇନିସେପ��ର�ୁ ନ�� କରାଯାଇଛି । 

C) ଏ�ିପିଏସ ଆଇନ ବଳେର �େବଶ, ତନଖ�, ବ�ାଜ�ା�ି, ଏବଂ ଆେର� କରିବାର �ମତା 
ଅବକାରୀ ସବ ଇନିସେପ��ର�ଠାେର ନ�� ଅଛି । 

D) ଏ�ିପିଏସ ଆଇନ ଅଧୀନେର �େବଶ, ତନଖ�, ବ�ାଜ�ା�ି ଓ ଆେର� କରିବାର �ମତା 
ଅବକାରୀ ଇନସିେପ��ର�ୁ ଅପ�ଣ କରାଯାଇଛି । 

 

Ans- D 

 

66. Assam has one of the largest tea gardens in the world. 

A) ଆସାମେର ଦୁନିଆର ସେବ�ା� ଚା ବଗିଚା ଅଛି । 

B) ଆସାମ େଦଶର ସବ�ବୃହତ ଚା ବଗିଚା ଅେଟ । 

C) ଆସାମେର ପଥୃ �ବୀର ସେବ�ା� ଚା ବଗିଚାମାନ ଅଛି । 

D) ଆସାମ ଚା ବଗିଚା ପଥୃ �ବୀର ସବ�ବୃହତ ଚା ବଗିଚାମାନ� ମ�େର ଅନ�ତମ । 

 

Ans- A 

 

67. Prohibition is a boon for human and social health but bane for 
the state resources. 
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A) ନିଶାନିବାରଣ ମନୁଷ� ଏବଂ ସମାଜିକ �ା��ପାଇ ଁଏକ ଆଶୀବ�ାଦ କି� ରାଜ� ସ��ଳ ପାଇ ଁ
ଅଭିଶାପ । 

B) ନିଶାକରଣ ମନୁଷ� ଏବଂ ସମାଜର �ା��ପାଇ ଁଆଶୀବ�ାଦ କି� ରାଜ� ବିକାଶ ପାଇ ଁବାଧକ 
। 

C) ନିଶାନିତି ମନୁଷ� ଏବଂ ସମାଜର �ା��ପାଇ ଁ ନିତା� ଜରୁରୀ ଏବଂ ରାଜ� ସମ�ିୃ ପାଇ ଁ
ଅପରିହାଯ�� । 

 

Ans- A 

 

68. He always stood by his friends through thick and thin. 

A) ତା� ବ�ୁମାନ� ଭିଡେବେଳ େସ ସବ�ଦା ଠିଆ ହୁଅ�ି । 

B) ବ�ୁମାନ� ସଖୁ ଦୁଃଖେର େସ ସବ�ଦା ଠିଆ େହଉଥ �େଲ ।  

C) ତା� ବ�ୁମାନ� ଦୁଃଖ ଦୁ��ନେର େସ ସବ�ଦା ସାହାଯ� କରୁଥ �େଲ । 

D) ବ�ୁମାନ� ଦୁଃଖ ଦୁ��ନେର େସ ସବ�ଦା ଠିଆ େହଉଥ �େଲ ? 

 

Ans- B 

 

69. Are they leaving for the USA by the next flight? 

A) େସମାେନ ପରବ��ୀ ଉଡାଣେର ଆେମରିକା ଯାଉଛ�ି । 

B) େସମାେନ ଆସ�ାକାଲି ଉଡାଣେର ଆେମରିକା ଯିବାର ଅଛି? 

C) େସମାେନ ପରବ��ୀ ବିମାନଯା�ାେର ଆେମରିକା ଯାଉଛ�ି କି? 

D) େସମାେନ ପରବ��ୀ ଉଡାଣେର ଆେମରିକାରୁ େଫରୁଛ�ି କି? 
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Ans- C 

 

70. Export of 'Mohua liquor' shall be temporarily banned to avoid 
shortage. 

A) ଅଭାବ ଦୁର କରିବାକ ୁମହୁ ମଦ ଆମଦାନୀ କିଛି ସମୟପାଇ ଁବ� କରାଯିବ । 

B) ଅଭାବୀ ଦୂର କରିବାକ ୁମହୁଲ ମଦ ଆମଦାନୀ କିଛି ସମୟପାଇ ଁବ� କରାଯାଉଛି । 

C) ଅଭାବୀ ଦୂର କରିବାକୁ ମହୁଲି ମଦ ର�ାନି ସାମୟିକ ଭାେବ ନିେଷଧ କରାଯିବ । 

D) ଅଭାବ ଦୂର କରିବାକ ୁମହୁ ମଦ ର�ାନ ିସବୁଦିନପାଇ ଁବ� କରାଯିବ । 

 

Ans- C 

 

71. Cultivation of hemp plant causes health hazard for man. 

A) େହ� �ା� ଚାଷ ମଣଷିସମାଜର �ା���ତି ବିପଦ ସ�ିୃକେର । 

B) ଅଫିମ ଚାଷ ମଣଷିର �ା��ର ବିପ�ି ଘଟାଇବ । 

C) ଗେ�ଇ ଚାଷ ମଣଷି �ା���ତି ବିପଦ ଘଟାଇଥାଏ । 

D) ଭା� ବ�ବସାୟ ମଣଷିର �ା��ର ବିପ�ି କାରକ ଅେଟ । 

 

Ans- C 

 

72. Peace hath her victory no less renowned than war. 

A) ଯ�ୁ ଜୟଠାରୁ ଶା�ିର ଜୟ େକୗଣସି ଗଣୁେର କମ ନୁେହ ଁ। 

B) ଯ�ୁ ଜୟ ଶା�ିର ଜୟଠାରୁ କମ ସଖୁ�ାତ ଅେଟ? 
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C) ଯ�ୁ ଜୟଠାରୁ ଶା�ିର ଜୟ କମ ସଖୁ�ାତ ନୁେହ ଁ। 

D) ଶା�ିର ଜୟଠାରୁ ଯ�ୁର ଜୟ ଅଧ�କ ବିଖ�ାତ ଅେଟ । 

 

Ans- C 

 

73. They while away their evenings with games and gossips. 

A) େସମାେନ ତା� ସ��ା ସମୟସବୁ େଖଳ ଏବଂ ଗପସପେର ସାରିଦିଅ�ି । 

B) ତା� ସମ� ସ��ାଗଡୁିକ େଖଳ ଏବଂ ଗପସପେର େସମାେନ କାଟୁଛ�ି । 

C) େସମାେନ ତା� ସ��ା ସମୟସବୁ େଖଳକୁଦେର କାଟିେଦେଲ । 

D) େସମାେନ ସ��ା ସମୟେର େଖଳ ଏବଂ କସରତେର ମାତିଥା�ି । 

 

Ans- B 

 

74. Monks and nuns live in separate monasteries. 

A) ତପ�ୀ ତପ�ିନୀ ମାେନ ବିଭି� ମ�ିରେର ରହ�ି | 

B) ତପ�ୀ ଏବଂ ତପ�ିନୀ ମାେନ ଭି� ଭି� ମ�ରିେର ରହୁଛ�ି । 

C) ସ��ାସୀ ଓ ସ��ାସିନୀମାେନ �ତ� ମଠମାନ�େର ବାସ କର�ି । 

D) ତପ�ୀ ତପ�ିନୀ ମାେନ �ତ� ଭାେବ ବାସ କର�ି । 

 

Ans- C 

 

75. Here comes the bus scheduled to leave for Kolkata at 6.30AM. 
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A) ପବୂ�ା� ଘ ୬.୩୦ ମିନିଟେର କଲିକତା ଛାଡିବାକୁ ଥ �ବା ବସଟି ଏଇଟି ଆସଛିୁ କି? 

B) ପବୂ�ା� ଘ ୬.୩୦ ମିନଟିେର କଲିକତା ଯା�ା କରିବାପାଇ ଁନ�ି�ାରିତ ବସଟି ଏଇ ଆସଅୁଛି । 

C) ଏଇ ବସଟି ଆେସ ଏବଂ ଅପରା� ଘ ୬.୩୦ ମିନିଟେର କଲିକତା ଯାଏ । 

D) ବସଟି ଆସିଯାଇଅଛି ଯାହାକି ନି��ାରିତ ପବୂ�ା� ଘ ୬.୩୦ ମିନିଟେର କଲିକତା ପହ�ବି । 

 

Ans- B 

 

76- 'େଶାଇଲା ପଅୁର ଭାଗନାହଁି। ଏଠାେର େଶାଇଲା କି �କାର ପଦ?  

A) ବିେଶଷଣ 

B) ବିେଶଷ 

C) �ିୟା 

D) ଅବ�ୟ 

 

Ans- A 

 

77- ଅଥ�କୁ ଅତ�ିମ ନ କରି- ଏକ ପଦେର �କାଶ କର । 

(A)  ଯାଥାଥ�� 

(B)  ଯଥାଥ�   

(C)  ଅଯଥାଥ� 

(D)  ଯ�ାଥ�ତା 

 

Ans- B  
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78- ମ ଁ ୁତା� ବଷିୟେର ସବୁଜାେଣ । େରଖା�ିତ ପଦଟି କି�କାର ସବ�ନାମ ? 

(A) ବ��ିବାଚକ ସବ�ନାମ 

(B) ସ���ବାଚକ ସବ�ନାମ 

(C) ନି��ାୟକ ସବ�ନାମ  

(D) ���ବାଚକ ସବ�ନାମ 

 

Ans-  C 

 

79- ଖାଇବାର ପ�ୁଗଲା ମଥରୁାପରୁକୁ – େରଖା�ିତ ଅଂଶଟି େକଉ ଁପଦ? 

(A) �ିୟା 

(B) ସବ�ନାମ 

(C) ବିେଶଷ� 

(D) ବିେଶଷଣ 

 

Ans- D 

 

80- ପରମ ଦୟାଳୁ ବ�ୁ–େରଖା�ିତ ପଦଟି କି ପଦ? 

A) ବିେଧୟ ବିେଶଷଣ 

B) ପରିମାଣବାଚକ ବିେଶଷଣ 

C) ଗଣୁବାଚକ ବିେଶଷଣ 

D)ବିେଶଷଣର ବିେଶଷଣ 
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Ans- D 

 

81- ନିେଜ ନିଜକୁ, ଆେପ ଆପଣାକୁ, �ୟଂ ନିଜର, ନିେଜ �ପରିଚୟ, ପଦଗଡ଼ିୁକ କି 
�କାର ସବ�ନାମ? 

(A) ନି��ାୟକ 

(B) ନିେ��ଶା�କ 

(C) ���ବାଚକ 

(D) ଆ�ବାଚକ 

 

Ans- D 

 

82- ତୁେମ ବାର��ାର େସ ଭୁଲ କରୁଛ । େରଖା�ିତ ପଦଟି େକଉ ଁଅବ�ୟ ? 

(A) ବୀପ ୍ସାଥ�କ ଅବ�ୟ  

(B) ସ�ତି ସଚୂକ ଅବ�ୟ 

(C) ସାଦୃଶ� େବାଧକ ଅବ�ୟ 

(D) ବିକ�ାଥ�କ ଅବ�ୟ 

 

Ans-  A 

 

83- 'ପାନିଆ ଁ̓- େକଉ ଁେ�ଣୀ ର ଶ� ଅେଟ? 

A) େଦଶଜ 
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B) ତତ୍ ସମ 

C) ତ�ବ 

D) େବ�େଦଶକି 

 

Ans- A 

 

84- େଯଉମଁାନଂକ ଉେ�ଶ� ମହତ୍ େସମାନଂକୁ ଭଗବାନ ସାହାଯ� କର� ି । ବାକ�ଟି 
େକଉ ଁ�କାର ବାକ� ? 

A) ସରଳ ବାକ� 

B) ମି� ବାକ�  

C) େଯୗଗିକବାକ� 

D) ଜଟିଳ ବାକ� 

 

Ans- D 

 

85. ‘କିଏ ଏ ବହିଟି େଲଖଛୁ�?ି'- ଏହାର ବାଚ� ପରିବ��ନ କେଲ କଣ େହବ? 

A. କବିସଯୂ�� ଏ ବହିଟି େଲଖ�ଛ�ି । 

B. କାହା�ାରା ଏ ବହିଟି େଲଖାଯାଇଛି । 

C. କିଏ ଏ ବହିଟି େଲେଖଇଛ�ି? 

D. ଏ ବହିଟି କିଏ େଲଖ�ଛ�ି? 

 

ANS- B 
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86. େଗାପାଳ ବଦି�ାଳୟକୁ ଯାଇ �ଧାନ ଶ�ିକ�ୁ େଦଖାକଲା - ଏହାକୁ େଯୗଗିକ 
ବାକ�େର ପରିଣତ କର 

A. େଗାପାଳ ବିଦ�ାଳୟେର �ଧାନ ଶ�ିକ�ୁ େଦଖାକଲା 

B. େଗାପାଳ ବିଦ�ାଳୟକୁ ଗଲା ଓ �ଧାନ ଶ�ିକ�ୁ େଦଖାକଲା 

C. େଯେହତୁ େଗାପାଳ ବିଦ�ାଳୟକୁ ଗଲା େତଣ ୁ�ଧାନ ଶ�ିକ�ୁ େଦଖାକଲା 

D. ବିଦ�ାଳୟକୁ ଯାଇଥ �ବା େଗାପାଳ �ଧାନ ଶ�ିକ�ୁ େଦଖାକଲା 

 

ANS- B 

 

87- େତା ବନିା ନାହଁି ଅନ� ଗତି̓  - େରଖା�ିତ ପଦଟି େକଉ ଁବଭି�ି ? 

(A) ଷ��ୀ 

(B) �ଥମା 

(C) �ିତୀୟା 

(D) ସ�ମୀ 

 

Ans- A 

 

88- ‘ନିଘ�ʼ - ଏହା େକଉ ଁସମାସ ନି�� ପଦ ? 

(A) ତ�୍ପରୁୁଷ 

(B) ଅବ�ୟୀଭାବ 

(C) ବହୁ�ୀହି 

(D) �ିଗ ୁ
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Ans- B 

 

89- ‘ଖାଇେଦଲାʼ �ିୟା ପଦେର ‘େଦଲାʼ ଏକ_________�ିୟା ।  

(A) ସହାୟକ �ିୟା 

(B) ସାହାଯ�କାରୀ �ିୟା 

(C) ମି� �ିୟା 

(D) ଅମି� �ିୟା 

 

Ans- B 

 

90- େସ �ିେକଟ୍ େଦଖ� େଫରୁଛ ି। େରଖା�ିତ ପଦଟି________। 

(A) ସଂପ� ସଚୂଳ ଅସମାପିକା �ିୟା 

(B) ସଂପ� ସଚୂକ ସମାପିକା �ିୟା 

(C) ଅସଂପ� ସଚୂକ ଅସମାପିକା �ିୟା 

(D) ଅସଂପ� ସଚୂକ ସମାପିକା �ିୟା 

 

Ans- A 

 

91- ‘ଗାୟକʼ ଶ�ର ଗଠନ କିପରି େହାଇଥାଏ? 

A) ଗାବ + ଇକ 

B) ଗା + ଇକ 

C) େଗ� + ଅକ  
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D) ଗାୟ+କ+କ 

 

Ans- C 

 

92- ‘ମୟୂର’ ର ସମାଥ�େବାଧକ ଶ�ଟି କ'ଣ ? 

(A)  କଳାପୀ  

 (B)  ମାରୁତ 

 (C)  କୁଧର  

 (D)  ବି� 

 

Ans-  A 

 

93- ନି��ଲିଖ�ତ ମ�ରୁ େକଉଟିଁ େଯାଡ଼ା ଶ� ପଯ��ାୟବାଚୀ ଶ� ନୁହ�ଁ ି? 

A) ଭା�ର-ମିହିର 

B) ବାରିଧ �-ବାରିଦ 

C) ଦ�ୀ-�ିରଦ 

D) ଚ�ଳ-ଚପଳ 

 

Ans- B 

 

94-  ‘ଜା�ବୀʼ ର �ତଶି� : 

(A) ବିଷଣ୍ପୁଦ 
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(B) ବିଷଣ୍ପୁଦୀ 

(C) ବିଷଣ୍ପୁଦା 

(D) ବିଷଣ୍ ୁ

 

Ans- B 

 

95- 'ସାମ�'ର ବପିରୀତ ଶ�ଟି କ'ଣ ? 

(A)  ସସୁାମ� 

(B)  େବ�ଷମ�  

(C)  ଅସାମ� 

(D)  ବିଷମ 

 

Ans-  B 

 

Q: 96 'ସତୁ�'ର ବପିରୀତ ଶ� କ'ଣ? 

A. ଜାଗତିୃ 

B. ବିତୃ� 

C. େତାଷ 

D. ନି�ାମ 

 

ANS- B 
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97- 'ଅକସ କରିବା'- ରୂଢ଼ିଟିର େକଉ ଁଅଥ� ଠିକ ? 

(A)  ଅକଲ ଶେିଖଇବା 

(B)  �ତିହିଂସା ମେନାଭାବ େପାଷଣ   

(C)  ବିଚାର କରିବା 

(D)  ବୁ�ିହୀନ େହବା 

 

Ans-  B 

 

98- ‘ହାତ ଶ�ା ଦପ�ଣ' -ରୂଢିଟିର ଅଥ� କ'ଣ ? 

(A) ସଖୁମୟ ଦା�ତ� ଜୀବନ 

(B) ପରି�ାର ପରି��ତା 

(C) ବିଭା େହବା 

(D) େମଳ ଖାଇବା 

 

Ans- A 

 

99-  ‘କୁକୁର ପରି ଧାଇବଁାʼ େକଉ ଁ�କାର ଋଢି ? 

A)�ିୟାହୀନ 

B)ସାଧାରଣରୂଢି 

C)�ିୟାଯ�ୁ 

D)ଉପମାଯ�ୁ 
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Ans- D 

 

100- େକଉଟିଁ ସଠିକ୍ ଶ� ନିରୂପଣ କର।  

A) ସାବ�ଜନୀନ 

B) ସବ�ଜନୀନ 

C) ସାବ�ଜନିନ 

D) ସବ�ଜନିନ 

 

Ans- A 
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